Whitman College

Econ 308

Exam 4

April 27, 2005

Write all answers in your blue book.  Show all of your work.  The exam ends at 10:50.

1.  (a)  (10pts)  Derive an LM curve.  

(b)  (5pts)  Explain, in words, why the LM curve is upward-sloping.  

(c)  (10pts)  Explain why and how the LM curve shifts when the Federal Reserve implements tighter monetary policy.  In your explanation, refer to two graphs: a supply and demand graph for real money balances, and an LM graph.

2. Suppose that the federal government cuts taxes and the central bank tightens monetary policy.  Use the Keynesian IS-LM model to complete parts (a)-(d).  

(a)  (5pts) On an IS-LM diagram, indicate the macroeconomic equilibrium before the policies go into effect, and the new equilibrium after they go into effect.  (You do not need to derive the LM or the IS curves in your diagram.)  

(b)  (2pts)  What happens to real aggregate output?

(c)  (2pts)  What happens to the real interest rate?

(d)  (6pts)   What happens to investment expenditures?  Explain.

3.  (5pts)  Why did Keynesian economists decide that the IS-LM model was not adequate for studying economic fluctuations?  

4.  Consider the question:  “Is the Short Run Phillips Curve relationship between unemployment and inflation exploitable, so that policy-makers could achieve lower unemployment if they were willing to put up with higher inflation?”

(a)  (20pts)  Use the Keynesian sticky wage Aggregate-Supply Aggregate-Demand model to thoroughly answer the question.  

(b)  (20pts)  Use the Lucas Imperfect Information Aggregate Supply model to thoroughly answer the question.  

5.  (15pts)  Consider next week’s meeting of the Federal Open Market Committee (FOMC).   What monetary policy do you think the FOMC will implement next week, and why?  Explain your reasoning.

